6.13 Polynéme caractéristique
2—X 0 1

_ L1 — L1+ Lo _ _
1 1A 1 :(1—)\)‘21)\ 2iA Tz (1—)\)‘31)\ g_i
1 0 2—A
1 1 C2—=C2-Cy 1 0 | 9
(1—>\)(3—)\)(1 9\ (1—>\)(3—)\)!1 1_)\’—(1—)\) (3—X)
Valeurs propres
A=1let A=3
Espace propre E;
2 -1 0 1 0 1 0 110 ILJQ*LQ_LI 1 0 110
3 — L3 -1y
1 1—-1 1 0 = 1 0 110 — 0 0 0]0
1 0 2—110 1 0 110 0 000
r= -0 0 -1
Y=« =al|ll]|+p8| 0] outa,feER
z = 6] 0 1
0 -1
Ei=<a|l]l+8| 0 |:a,0€ER
0 1
Espace propre Ej
Lo — Lo+ L1
2—-3 0 1 0 -1 0 110 L3:L31L1
1 1-3 1 0 — 1 -2 1 —
1 0 2—-310 1 0 —-110
L1 —L1 —
-1 0 110 Lg—?—l/ng 1 0 —11]0 =« 1
0 -2 210 01 —-11]0 — y=a =a|l
0 0 010 00 010 =« 1
1
Es=<all]l:aeR
1
Diagonalisation
0 -1 1\ "' /2 0 1\ /0 —1 1 100
1 0 1 1 11 1 0 1l=1]010
0 1 1 1 0 2 0 1 1 00 3
Inverse de la matrice de passage
0 -1 1/1 0 0 Ly o Ly 1 0 1]0 1 0 La o> Lo 4+ Lo
1 0 1|0 1 0 — 0O -1 1/1 0 0 —
0O 1 1({0 0 1 0O 1 1({0 0 1
1 0 1]0 1 0 LZI:fQLLIQ_JFLES 2 0 0|-1 2 —1
0 -1 1/1 0 0 — 0 2 0|-10 1
0O 0 21 01 00 2|1 0 1
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Calcul de la puissance

L — 1/2L1
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